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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 1047 1.6 0.7 2 80.4 99.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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12. (a) Expand and simplify (c + 3)(2c¢-5). 2]
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Sticky Note
The initial four terms, resulting from the expansion of the brackets, are given correctly for the first mark.  However, the wrong coefficient is then given for c, possibly from incorrectly reading part of the the previous line as "5c AND 6c" (as if both terms are to be subtracted).  So the second mark is not awarded.
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Sticky Note
All four terms are correct in the first line, but the term in c should be positive in the second. The candidate may be incorrectly applying the rule that "a minus and a plus makes a minus".  
Note also that writing "1" as the coefficient of c is unnecessary (though not penalised here).
1 mark is awarded for this answer (for the correct first line).
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12. (a) Expand and simplify (c + 3)(2c - 5). 0‘\



Sticky Note
The four terms are correct in the first line, but incorrectly simplified in the second.  The candidate appears to have added the terms in c2 and c.
1 mark is awarded.  
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15.

oy
(b Evaluate (2773, 2]




15.

(b) Evaluate (281)'%.



Sticky Note
This candidate is awarded 2 marks for a correct final answer.  However, note that the index of 1/3 should be clearly shown to be applied to both the numerator and denominator of the fraction (either written twice or with appropriate use of brackets).  If the candidate had stopped here, no marks could have been awarded as the next evaluation should have become an incorrect 2/27.
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Sticky Note
This solution is awarded 2 marks.  
It could however have been much shorter if the candidate had known that the fraction of 27/8 can simply be 'flipped over' so that the index becomes positive.
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15.

(b) Evaluate (
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Sticky Note
This answer is awarded 0 marks because the index of 1/3 is not applied to both the numerator and denominator, resulting in no consideration being given to the need to cube root the 27.  This is a pity as the candidate has correctly accounted for the negative index by 'flipping' the fraction.
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15. Each of the numbers 1, 3, 5, 5, 5, 6, 7, 8 is written on a card.

1113|5]|9]|5(|6||7]|8

Two of the eight cards are selected at random, without being replaced.
Find the probability that

(a) the product of the numbers on the two cards selected is 25,
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Sticky Note
1 mark is awarded for the correct product of fractions here. The candidate then seems to get muddled between adding and multiplying fractions, so the second mark is not awarded.
(Note also the correct use of an appropriate tree diagram, which helps to generate the method for the first mark - though it doesn't get credit on its own in this instance.)







Sticky Note
This candidate has failed to account for the cards being selected "without being replaced".
1 mark is awarded.


15. Each of the numbers 1, 3, 5, 5, 5, 6, 7, & is writtenn on a card.

355/ 5/6/7| 8

A

Two of the eight cards are selected at random, without being replaced.

Find the probability that

(a) the product of the numbers on the two cards selected Is 25,
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Sticky Note
This candidate has successfully used an unusual method, drawing a two-way table and eliminating the diagonal to account for the cards being selected "without being replaced".  
2 marks are awarded.  
Note that this method can only be applied when combining two events.
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12. (@) 2c*-5c+6c—15
2¢2+c—15

B1
B1

FT until 2" error (and equivalent difficulty)
Mark final answer.
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14 (b) 2/3

B2

B1 for (3/2) or 1/(3/2) or 1/1-5 or (8/27)*®
or (3V8/5¥27) o 3\(8/27)

BO for 8/27%% or 8327
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Mark

Comments

15. (a) 3/8 x 27
6/56 (= 3/28)

M1
Al

Do not ignore incorrect cancelling

OR two-way table drawn, with 8 x 8 — 8 spaces M1

6/56 (= 3/28) Al

If MOAO, award SC1 for method ‘with replacement’

(3/8 x 3/8 =) 9/64
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